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CERTIFICATE IN POULTRY FARMING (CPF) 

Term-End Examination 
00071 

December, 2014 

OLP-001 : INTRODUCTION TO POULTRY FARMING 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry 
equal marks. 

1. Define any five of the following : 	 5x2=10 

(a) Poultry 

(b) Beak Trimming 

(c) Breed 

(d) Culling 

(e) Layer 

(0 Feed Conversion Ratio (FCR) 

(g) Trap Nest 

2. Write short notes on any two of the following : 
2x5=10 

(a) Factors affecting meat production 

(b) Backyard Poultry Farming 

(c) Poultry Insurance 
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3. (a) Explain how poultry farming helps in rural 

livelihood security. 	 5 

(b) Describe the role of poultry egg and meat 
production cooperatives. 	 5 

4. (a) Differentiate between Rhode Island Red 
and Leghorn breeds of chicken. 	 5 

(b) Name any one egg type and one meat type 
duck breeds. Describe the characteristics of 

any one duck breed. 	 5 

5. Write short notes on : 

(a) Digestive system of poultry 
	

5 

(b) Feathers 
	

5 

6. Define Artificial Insemination. What are its 
advantages and disadvantages ? 	 10 

7. (a) How will you determine the present 
production of a layer ? 

	
5 

(b) Calculate age at sexual maturity based on 

the following assumptions : 
	

5 

(i) Age of pullet = 400 days 

(ii) Number of eggs produced = 175 

(iii) Rate of egg production = 77.78% 

8. Draw a picture of a chicken and identify its 

parts. 	 10 
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1. PHRiRsid 4 14 1-*T--81 	TrItiTard *'tr-4R : 5x2=10 

(") T4TZ 

(W) 	*f chdii 

(T1) RWf 

(Er) T*11 4at (z.11) 
(w) ceit 

() T-4T 	 arsTrff (75.1ft.aTR.) 

() 'TM 	10 (Trap Nest) 

2. PiHroi-Zd 4 	f 	 4rug 	 ,u4 tile!! 

few : 	 2x5=10 

() 14tZ 3clIci TITINff rnta alc,) 	 

(•) 'ER f clI i T4TZ 

(TO T4TZ tqr 
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3. () T-4Z 	RgruT 3.1TAT-4wi tt411 	Uf 

leig) 	ti ct cl l 	? k-48 	I 	 5 

TITZ 34r 74 4-ild .3c-4tc1t Tr*Rr 	 
It-Prwr 	 5 

4. ()  	 A 	,16- 	4 
31- T PTE W-4 I 	 5 

NO Giritg) 	1*-Tit t.) 34r 1*---(14 A T Tftz f*-1:14 
RTr i I eirRg if t 	Rwr 
fatirdtall 	Alf-  4R I 	 5 

5. 'Oct 4 rduLiPleli r r : 
() -F4TZ 41-c1-1 	 5 

tsNi 	 5 

6. Tr-41:1 TIVitTfq (414-1) 	tritte5rd 	-4-4 
WIT 74 r=1 err ? 	 10 

7. () Veit 	 altq 44 
	 ? 	 5 

PIH 	r1 tgcl 31-avrt-onall * aTKR w frcb 
aet-cnnr 131 	LiRcbRicl W-A7 : 	 5 

(i) TaZ 3111 = 400 tdT1 

(ii) 3"- TT1-0   175 

(iii) = 77.78% 

8. 	 -4qR 3-TIT -F* 374 trgqRI 10 
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